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Answers for Lesson 7-8, pp. 411-413  Exercises
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13 Exercises (cont.)

Answers for Lesson 7-8, pp. 4114
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Answers for Lesson 7-8, pp. 411

~413 Exercises (cont.)
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Answers for Lesson 7-8, pp. 411-413 Exercises (cont.)

@ ¥y = 3Vx — 1; the graph is the graph of y = 3Vx translated
1 unit to the rlght

31. y = —4Vx + 2; the graph is the graph ofy = —4Vx
translated 2 umts to the left.

2 y = —14Vx F 1 the graph is the graph of y = —14V/x
translated 1 unit to the left.

33. y = 4V/x + 2; the graph is the graph of y = 4% translated
2 'units to the laft |

y = 8Vx — 2 — 3; the graph is the graph of y = 8V/x
translated 2 units to the right and 3 units down,

/ 35. y = 3V =2 + 1; the graph is the graph of y = 3V
\,\ translated 2 units to the right and 1 unit up.
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